Unit 5 — Set & Functions

Multiple Choice Questions

Q.1 Multiple choice questions. Four possible
answers are given for the following
questions. Tick mark (v') the correct answer.

1. A collection of well-defined distinct
objects 1s called:

(a) Subset (b) power set
(c) set (d) none of these
2. AsetQ :{; abeZ b+ U} 1s called a
]

set of :
(a) Whole numbers

(b) Natural numbers
(c) Irrational numbers

(d) Rational numbers

3. The different number of ways to describe

a set are:
(a) 1 (b) 2
(c) 3 (d) 4

4. A set with no element is called:
(a) Subset (b) empty set

(c) Singletonset (d) superset

5.  The set {x IxeWnanx< 101} is:




10.

11.

13.

14.

(@) Infinite set (b) subset

(c) Nullset (d) finite set

The set having only one element is
called:

(a) Nullset (b) power set

(c) Singletonset (d) subset

Power set of an empty set is:
(@ ¢ ® {a}
© {oda} @ o)

The number of elements in power set

{1,2,3} is:

(a) 4 (b) 6

(c) 8 (d) 9

If 4c Bthen 4w B 1s equal to:

(@) A (b) B

(c) ¢ (d)  None of these
If 4c Bthen 4B i1s equal to:

(@) A (b) B

(c) ¢ (d) None of these
If 4c Bthen A— Bis equal to:

(a) A (b) B

(c) ¢ (d)  None of these

(4w B)uwCisequal to:

(a) An(Buw(C) (b) (AUB)NCO)

(c) AuBuUC)(d) AN(BNC)

A (B C)1sequal to:
(a) (AuB)N(4u(O)

(b) An(BNC)
(c) (ANnB)N(AnC)
(d AuBuUl)

If A and B are disjoint sets, then 4B 1s

equal to:
(@) A (b) B
() ¢ (d Bu4

15.

16.

17.

18.

19.

24.

If number of elements in set A 1s 3 and n
set B 1s 4, then number of elements in
AxB 1s:

(a) 3 (b) 4

() 12 (d) 7

If number of elements i se A 1s 3 and in
set B 1s 2, then number of binary
relations i AxB 1s:

(a) 2° (b) 2°

-

(c) 28 (d) 2-
The domain of R
={(0,2),(2,3).(3,3)(3.4)} 1s:

(a) {0,3,4} (b) {0,2,3}
(c) {0,2,4} (d) {23, 4}

The Range of R
={(1,3),(2,2),(3,1)(4,4)} 1s:

(a) {1,2,4} (b)  {3,2,4}
(c) {1,2,3,4} (d) {134}
Point (-1,4) lies in the quadrant:
@) I (b) 1
() I (d) IV

The relation {(1,2),(2,3),(3,3)(3.4)} is:
(a) Onto function

(b) Into function
(c) Not afunction
(d) one-one function

I[f AmB=¢, then set A and B are ....sets.

(a) Sub (b)  overlapping
(c)  Disjoint (d)  power

I[f AC B and BC A4 . then:

(a) A=B (b) A #B

(0 AmB=¢ (d) AUB=¢

The complement of U is:

(a) U (b) ¢
(c) Impossible (d) union

The complement of ¢ is:

(a) U (b) ¢

(c) Impossible (d) union




28.

30.

31.

33.

34.

35.

36.

(a) U (b) A
(c) A (d) ¢

AUA = ... ..

(a) U (b) A

(c) A (d) ¢

Theset {x|x eAandx ¢ B } is:

(a) AUB (b) AMB

() A-B (d) B-A

The pomt (-5, -7) lies in ... quadrant.
(a) | (b) I 1
(c) 11l (d) IV

The point (4, —6) lies in .... Quadrant.
(@) | (b) I

(c) (d) IV
y co-ordinate of every point on x-axis is:
(a) +ve (b) —ve

(c) Zero (d 1

X co-ordinate of every point on y—axis is:
(a) +ve (b) —ve

(c) zero (d 1

The domain of {(a,b), (b,c), (c.d)} is:

(a) {ab,c} (b)  {b,c,d}

(c) {ab} (d) {a bcd}

The range of {(a,a), (b,b), (c,c)} 1s:

(a) {a,b} (b)  {a,b,c}

(c) f{a} (d) ¢

Venn diagram was first used by:

(a) JohnVenn (b) Newton
(c) ArthurClayey d)  John Napier

A subset of A xA is called...... mnA.
(a) Set (b) relation

(c) Function (d) into function

If £A — Band range of f =B, then f 1s
an:
(a) Into function (b) onto function

(c) Objective function (d) function

37.

38.

39.

40.

41.

43.

44,

45.

If A — B and range of f # B, then f is
an:
(a) Into function

(b) Onto function
(c) Objective function

(d) Function

The relation {(a.b),(b.c).(a.d).}is:

(a) afunction (b) nota function

(c) range (d) domain

By definition, which of the following is a
set?

(a) {a,bc,a} (b) {1,2,3,2}

(c) {f,m,n,o} (d) {0,1,2,3,1}

Which of the followmg 1s true?
@) WcN b) ZcW
) NcP d PcW

Which of the followmg is true?
(a) PcNcZcW

(b)) PcNcWcZ
(0 PcWcNcZ
(d PcZcNcCcW

Which of the following 1s true?
(a) NandWcZ

(b) PandOc W
(¢) OandEcW

(d) PandE <N

NAW=... .
(a) & (b) {0}
(¢ N (d) W
NOW=_....
(&) ¢ (b) {0}
(¢ N (d) W
N-W=......




46.

47.

48.

49.

h
2

53.

54.

55.

(@) ¢ (b) {0}

(c) N (d) W
W-N=_....
(a) ¢ (b) {0}
(c) N (d) W
O~E=.......
(@) ¢ (b) ©
(c) E d) Z
OUuE=........
(a) ¢ (b) O
(¢) E (d) Z
E-O=......
(@) ¢ (b) O
(¢c) E (d z
O-E=.......
(a) ¢ (b) O
(c) E d z

Which of the following i1s complet
description of Real numbers?

@ NUW=R (h) OUE=R
(¢) PuUQ=R (d QuUQ =R

If xeA and x € B then {X} is equal to:

(@) A-B (b) A

(c) AnB (d BF

If xeAand x¢B, then { X } is equal
to:

(a A-B (b) B-A

(c) AnB (d) A°

If xeU and x¢ A, then {X} is equal
to:

(a) U (b) AS

) ¢° (d A-U

Which of the following i1s De-Morgan’s
law?
(a) (AuB)uUC=AuU(BUC)

(b) (AnB) =A° UB®

56.

57.

58.

60.

61.

() Au(BnC)=(AuB)n(AULC)
(d An(BuC)=(AnB)U(ANC)

Which of the following is associative law
of union?

(a) Au(BuC)=(AuB)uC
(b) An(BNC)=(AnB)nC

(c) Au(BNC)=(AUuB)n(AULC)
(d An(BuC)=(AnB)uU(AnC)

Which of the following is associative law
of intersection?

(@) Au(BuC)=(AuB)uC
(b) An(BNC)=(AnB)nC

() Au(BNC)=(AUuB)n(AULC)
(d) An(BuC)=(AnB)u(ANC)
Which of the following is distributive

property of union over intersection?
(a) Au(BuC)=Au(Buw()

(b) An(BNC)=(AnB)nC

() AU(BNC)=(AuB)n(AULC)
(d An(BuC)=(AnB)uU(ANC)
Which of the following is distiibutive
property of intersection over union?

(@) Au(BuUC)=AuU(BULC)

(b) An(BNC)=(AnB)nC

() Au(BnC)=(AuB)n(AULC)
(d An(BuC)=(AnB)u(ANC)
Which of the following is commutative

law?
(a) Au(BuC)=(AuB)uC

(b) ANn(BNC)=(AnB)nC

(c) AnB=BnA
(d (AUB) =A“~B°

Two sets having no common element are
called ............ sets.




(a) subset (b) overlapping

(c) disjoint (d) super

62. If two sets have some elements common
but not all are called... sets.
(a) sub (b) overlapping
(c) disjoint (d) super
63. If set A has all its elements common with
set B then set A is called... . set.
(a) sub (b) overlapping
(c) disjoint (d) super
64. Aand A%are ........ sets.
(a)  Universal (b) overlapping
(c) disjoint (d) super
65. If union and intersection of two sets are
equal then sets are ...... sets.
(a) Disjoint (b) overlapping
(c) Equal (d) super
a C C
66. If Ais subset of U, then (A ) =i
(a) A (b) A€
© ¢° (d U
1. |cl2. |d]3 Jcla |b]s |d
(6. | cl7. [d[8 |c|9 [bl10. |a]
11. | ¢ |12, | c |13, | a |14 |d |15 |c|
16. | b|17. ' b|18. |c|19. [ b]20 |[c!
21. | c |22 |a |23 |b |24 | a|25 |d
126, |a|27. | c|28 |c|29 |d]|30 |c|
131. [ c[32. [a[33. |b |34 [al35 |b]
36. c | 37. a| 38 b | 39. c | 40. d|
41. | b |42 [ala3, |cl4a | d|4a5 |al
_ 46. b | 47. a | 48. | d | 49. c|50. | b
'51, | d |52 |c|53 |a|54 b|55 |b
56. a | 57. b | 58. c|59. |d|60. |c
_ 61. | c|62. | b |63, |a |64 | c |65 |c
' 66. | a




